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Comprehension Ol

Directions : Read the following passage
carefully and answer the questions given
below : (13 to 17)

- Philosophy of Education is a label applied to

the study of the purpose, process, nature and

-ideals of education. It can be considered a
branch of both philosophy and education.’

Education can be defined as the teaching and
learning of specific skills, and the imparting of
knowledge, judgment and wisdom, and is
something broader than the societal institution
of education we often speak of.

Many educationalists consider it a weak and
woolly field, too far removed from the practical
applications of the real world to be useful. But
philosophers dating back to Plato and the
Ancient Greeks have given the area much
thought and emphasis, and there is little doubt
that their work has helped shape the practice of
education over the millennia.

Plato is the earliest important . educational
thinker, and education is an essential element
in “The Republic” (his most important work on
philosophy and political theory, written around
360 B.C.). In it, he advocates some rather
extreme methods : removing children from
their mothers’ care and raising them as wards.
of the state, and differentiating children
suitable to the various castes, the highest
receiving the most education, so that they could
act as guardians of the city and care for the less
able. He believed that education should be
holistic, including facts, skills, physical
discipline, music and art. Plato believed that
talent and’ intelligence is not distributed
genetically and thus is not found in children
born to all classes, although his proposed
system of sé€lective public education for an

104C

§educated minority of the populat'ion does not
i really follow @ democratic model.

| Aristotle considered human nature, habit and
§reason to be equally important forces to be
lcultivated in education, the ultimate aim of
. which should be to produce good and virtuous
citizens. He proposed that teachers lead their
:students systematically, and that repetition be
Eused as a key tool to develop good habits,
{unlike Socrates’ emphasis on questioning his
§1isteners to bring out their own ideas. He
§ emphasized the balancing of the theoretical and
§practical aspects of subjects taught, among
§which he explicitly mentions reading, writing,
§mathematics, music, physical education,
é literature, history, and a wide range of sciences,

as well as play, which he also considered

important.

jDuring the Medieval period, the idea of
{Perennialism was first formulated by St.

gThomas Aquinas in his work “De Magistro”.

g Perennialism holds that one should teach those

gthings deemed to be of everlasting importance
§to all people everywhere, namely principles

§and reasoning, not just facts (which are apt to

|change over time), and that one should teach

§ first about people, not machines or techniques.

§ It was originally religious in nature, and it was

fonly much later that a theory of secular

' perennialism developed.

gDuring the Renaissance, the French skeptic

i Michel de Montaigne (1533 — 1592) was one

£ o . .

;of the first to critically look at education.

i Unusually for his time, Montaigne was willing

ito question the conventional wisdom of the

i period, calling into question the whole edifice

1of the educational system, and the implicit

gassumption that - university-educated

gphilosophers were -necessarily wiser than
‘uneducated farm workers, for example.

!
i
!
i
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13.

14.

15‘

16.

What is the difference between the
approaches of Socrates and Aristotle ?

(A) Aristotle felt the need for repetition
to develop good habits in students;
Socrates felt that students need to be
constantly questioned.

(B) Aristotle felt the need for rote-

learning; Socrates emphasized on

dialogic learning.
(C) There was no difference.

(D) Aristotle emphasized on the
importance of paying attention to
human nature; Socrates emphasized
upon science.

Why do  educationists  consider
philosophy a ‘weak and woolly’ field ?

(A) It is not practically applicable.

(B) Its theoretical concepts are easily
understood.

(C) Itis irrelevant for education.
(D) None of these

What do you understand by the term
‘Perennialism’, in the context of the
given comprehension passage ?

(A) It refers to something which is of
permanent importance.

(B) It refers to something which is quite
unnecessary.

(C) It refers to something which is
abstract and theoretical.

(D) It refers to something which existed
in the past and no longer exists now.

Were Plato’s beliefs about education
democratic ?

(A) No, not at all.

(B) Yes, it was democratic completely.
(C) Yes, it was democratic partially.
(D) None of these

1

17.

18.

19.

20.
21.

|
|
|
122,
|
|
|
|

Why did Aquinas propose a model of
education which did not lay much
emphasis on facts ?

(A) Facts are not important.

(B) Facts do not lead to holistic education.
(C) Facts can change with the changing

times.
(D) Facts are frozen in time.

Which part of the sentence has an error ?
He was not considered for promotion
because his performance was not as good

as the other members ~of the

organizations.

(A) He was not considered for
promotion '

(B) because his performance was not

(C) as good as the other members of the
organizations.

(D) No error

Which part of the sentence has an error ?
Of the three wild beasts in the cage, thls
one seems the most ferocious.

(A) Of'the three wild beasts in the cage,
(B) this one seeins

(C) the most ferocious.
(D) No error e
Give Synonym of :

Vituperate

(A) Abuse (B) Appreciate
(C) Copy (D) Encourage
Give Antonym of :

Reprobate

(A) Elevated (B) Virtuous
(©) Clumsy (D) Lavish

Give meaning of Idiom
At loggerheads

(A) in difficulty

(B) to be at strife

(C) None of these

(D) very happy together
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23.

24.

25.

26.

27.
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“ ” does not help in guarding your
computer against malicious software.
(A) Windows Firewall

(B) Windows Defender

(C) Browser

(D) Anti-virus software

“ 3Tk el i AfereE diweeRr
¥ Rreg e ﬁ TR T a1 B |

A) fo= wrEta

(B) Tt fetheer

(C) FEH Ll

(D) Tt-aR" GiRaat

Where is RAM located ?

(A) Mother Board (B) Expansion Board
(C) External Drive (D) None of these

RAMFei mfRa a2 ?
(A) " (B) AT W18
(C) T 313d (D) 70 @ I3 T8

is directly used to store user’s
data or program.
(A) Folder (B) File
(C) Recyclebin (D) None of these
IR % 1T AT AW B R FA
% T werer &9 @ ygw B R |
(A) HIeel (B) w1get

(C) Tusfrafam (D) = @ =1E 7
What is maximum zoom percentage in
MS-Word ?

-aéﬁaﬁwqgmﬁmm
Bl 8 ?

(A) 200 (B) 400
(C) 500 (D) None of these/
T A HE TG

!
Which of the following is/are example(s) g
of Word Processors ?

(A) Microsoft Word i
(B) WordPerfect |
(C) Both Microsoft Word and WordPerfect
(D) None of these i
7 4 @ i /@ 9 e %1/% e |
2/8 1 |
(A) HTEHIETR 98 |
(B) IS TH |
(C) HIgmiETR 9 Ud 98 TOHaR QA |
@) FHAHETE

28.

29.

30.

31.

In Microsoft Excel 2007, a s1ngle file or
document is calleda®__ ”

(A) Workbook (B) Worksheet

(C) Sheet (D) Notebook

HIEHIETR T 2007 H, TH THel BIESA
1 Slagie %! HEd & T ¢ "

(A) ThgH (B) Thufie

(C) e - (D) TRTH

Which of the following system softwares
is loaded first into computer memory
when a computer is powered on ?

(A) Device Drivers

(B) Language translators

(C) System Utilities

(D) Operating system

fr o @ w9 @ Ren giwaw e
FHIY AR T AN BT ], T Teh HIK
7ol fora ST 8 7

(A) feasugsad  (B) @é&rm
(C) Toeem gfefeafest (D) srtafen faren

Which of the following is not an example
of solid state storage device ?

(A) DVD ROM

(B) Memory Card

(C) USB Flash Drives

(D) None of these

= 5 @ 31 w1 39 SR Wi %arrsa
1 Th ISET A B ?

A) g€ U

(B) A9 %1E

(C) 1., Fiw gral

(D) ¥ & 15 &l

Devices, such as monitors and printers,
that connected to the computers are called
(A) System Devices

(B) Input Devices

(C) Peripheral Devices
(D) None of these

feargaw, 9@ % wffer @ e, S

F AR gU AN &, FEo E

(A) foreen feamast (B) wge feamsa

(C) R feamgeal (D) 374 & 1§ Tel
a



32.

33.

34.

35.

36.

Which of the following is not an input
device ?

(A) Optical scanner (B) Keyboard

©) Mousepad (D) Touch pad

o 3 & = a1 v e feargm A R ¢
(A) FfRweT SR (B) HarE

(C) w3| A (D) Talg

Which of the following is correct term for
the process of finding and correcting
errors in program ?
(A) Debugging
(C) Interpreting

(B) Translating
(D) Compiling

TS ST § FfeT 1 9@ T 3 guRA Y
plERIE SN CA TS kD e
(A) feafim (B) grmife
(C) sefén (D) hwTEfe
A megabyte is actually equal to
kilobytes.
T WIS IS E _ feelremge
F IR |
(A) 1000 (B) 1024

(C) 1084 (D) None of these/

T @ HIE T

Which PowerPoint view displays each
slide of the presentation as a thumbnail
and is useful for rearranging slides ?

(A) Slide Design (B) Slide Sorter
(C) Slide Shoyv (D) Slide Master

S |1 IR -ET5E o SRR 3 T TS
I TF YEE % 9R W ey e & e
TAEEH 1 JH eI & 1§ SERfi R 7
(A) @R RV (B) WS A

C) W (D) TS IR

Which of the following is a point-and-
draw device ?

(A) Scanner (B) Printer

(C) Mouse (D) Keyboard

o 8 9 1 0w ey feamsa &
(A) T ®) =

(C) Tr=™ (D) HarE

LGNS THINIIS HULEMRS TELAIR a3 WA VRIS WARBGLIGS MRS MU 0% i THINOD.

37. DTP is a computer abbreviation, it

38.

39.

usually means —

(A) DeskTop Publishing

(B) DeskTop Programming

(C) Digital Type Program

(D) Document Top Publishing

DTP T et G 2, THHI A=Al

Fig-

(A) swheia ufeAfdm

(B) ¥&Hefa wanfim g%g
(C) fefest g wamm
(D) Sfegi=e 29 ufsafm

Which one of the following states has the
largest area under forest cover ?

(A) Arunachal Pradesh

(B) Assam

(C) Himachal Pradesh

(D) Madhya Pradesh

fraiasma @ aqatrv‘mﬁa &

AR 8 2
(A) JTRUTEA Y (B) E@H
(C) =@y (D) W wew

Which of the following regions has been
classified as ‘Western Dry Region’ among
the 15 Agro-Climatic zones of India ?
(A) North Bihar Dry Region

(B) Rajasthan Dry Region

(C) NEFA Region

(D) West Bengal Dooars

A % 15 wi-wemgafes (S soam)
gat 4 fam 4 @ fopw & @t ufed g
&' o w9 # rffepe foma man 2 2

(A) ST fEr g &

(B) TSTEIH Y[ &

(C) %1 (NEFA) &3

(D) ufeem s g
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40.

41.

42,

43.

() T 8T

104C

The climate of Assam is

(A) tropical monsoon

(B) tropical dry

(C) hot desert type of-climate

(D) tropical savannah A

37w i T & 9%%
(A) IupfeaHia wEd el
(B) Iwreh{eaefta Ioh

(C) I~ TETYA THI h STeTary
(D) Ioehieatiy aamT

Where is Bansagar Hydel Project located ?
(A) Madhya Pradesh

(B) Uttarakhand

(©) Gujarat

(D) Rajasthan

SO vAfeRTedt e el o fRrm 8 2

(A) T (B) STEE
(C) T (D) TSIH

Which mountain range separates the Indo-
Gangetic plains from the Deccan Plateau ?

(A) Vindhyas (B) Aravalli

(C) Purvanchal (D) Karakoram
el i B w1 gl ver @ fave
HT T TS e B ] 2

A) fore (B) IFEet

(C) EEa - (D) HRHRA

Shyok and Nubra valleys are located in
which region of India ?

(A) Kangraregion (B) Ladakh region
(C) Chamba region (D) None of these

VIl < ot & 1 welieh el o7 el R € 7]

(B) WErE &7
(D) T 8 I TG

(A) SIS &=

AROSRSD LIRS KA YKL TSISRRING AT AR AND TP MAOS TGS s NS SN

44.

45.

Match List - 1 (Peaks) with List - II
(Mountain range) and select the correct
answer using the codes given below the
lists :

T - 1 (S Y g - 11 (T e %

m@%ﬁm&hﬁ%ﬁﬁqm@
78 T SR
List- /g -1 List- I /AR -1
(Peaks)/(¥¢1)  (Mountain Range)/
| (TS )
a. Gurushikhar/ 1. Karakoram/
'ﬁbﬁl‘@’{ HRHRH
b. Dhupgarh/ 2. Satpura/&dqg!
g
c. DodaBetta/ 3. Nilgiri/ @it
et S
d. Saser Kangri/ 4. Vindhya/fore
A I
5. Aravalli/3mae]
Codes / 2 :
a b c d
A 4 2 3 1
B) 5 4 1 3
© 4 5 2 3
"MD)ys 2 3 1

A Dynamo is a device for converting

(A) electrical energy into mechanical
energy

(B) mechanical energy into electrical
energy

(C) mechanical energy into speed

(D) None of these

TR T IfR B uiafda w@ 6

(A) Torea st ot @it St &

(B) wifires Sl o ferega St A

(C) it St bl il o

(D) T A IS T



46.

47.

48.

49.

50.

Which of the following are liquids at room
temperature and standard pressure ?

= 9 @ P ¥ T 99w o9 U9 S %

AIHH T () T8 2.

1. Helium/ 2. Bromine/
giferay EIRIES]

3. Mercury/ 4. Chlorine /
TR FN

Select the correct answer using the code
given below :

9 R e T & TR R I -

(A) 2,3,4 (B) 2,3

© 1,2,3 (D) All of these /
Jgaft

Gastritis affects which part of the human

body ?

(A) Feet (B) Skin

(C) Lungs (D) Stomach

waty (FeRied) e it ¥ frg wm

I THTTI LT B 2

(A) W (B) T ,@%2

©) ¥+ O) 3w

How many spinal nerve pairs are there in
humans ?

T # fpae 3%l gm ag S § 2
(A) 31 (B) 12

O 10 (D) 37

What is ‘Mushroom’ ?

(A) Fungus (B) Bacteria

(C) Plant (D) Animal

TR TR ?

(A) Ih (B) Sfiam

(C) U (D) ot

The enzyme in whose presence glucose

and fructose are converted into alcohol is i

(A) Invertase (B) Zymase

(C) Maltase (D) None of these
TehIEe | Tiafia & 91 8, B -

(A) FEE (B) TS

(C) wees (D) ¥ A %K &

l

51.

52.

DPT vaccine is administered to prevent
disease like

(A) Dengue, Polio and Tetanus

(B) Diphtheria, Pertussis and Typhoid
(C) Diphtheria, Pertussis and Tetanus
(D) Dengue, Pertussis and Typhoid

A.f.A. e = i | s=m F e
femsman g -

(A) <1, Nferl v 2

(B) Tewfifen, i @ ewise

(C) Tewfifen, i wa 2o

(D) 1, R e Tewise
Match the following :
e 1 e R
a. Nyaya/A™ 1. Kanada/&UMg
b. Vaisheshika/ 2. Shankaracharya/
CRILED YRTETE
c. Yogasamm 3. Gautama/mad
d. Vedanta/ 4. Patanjali/
Seia -

Select the correct answer using codes
given below :

fen et & mmw:mgﬁ |
Codes /ﬁz
b ¢ d
(A) 3 1 4 2
B 2 3 4 1
< 4 1 2 3
@ 3 4 1 2

. Which is the correct chronological order

of the following rulers of slave dynasty
who ruled over Delhi ?

(A) Razia, Nasiruddin, Balban, Iltutmish
(B) Nasiruddin, Balban, Razia, Iltutmish
(C) Iltutmish, Razia, Nasiruddin, Balban
(D) Iltutmish, Balban, Nasiruddin, Razia

feeeft W wmem w@ 9 = I S
YT 1 HICTHATIEN 981 FH B A8 ?
(A) U, Med, ooTeH, ogarm
(B) “Rred, soteH, Wommn, geganm

(C) seqattm, W, Mited, s

(D) Segatm, seed, TieeH, W
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54,

1. IHTH FRigTe i e o fore |

5S.

56.

formed in

104C

Consider the following statements : |

Akbar sought the friendship and

cooperation of Rajputs :

1. To crush Afghan revolt.

2. To strengthen the foundation of
Mughal Empire in India.

3. To build Ibadatkhana at Fatehpur Sikri
To defeat foreign tribes invading India.

ﬁwaaﬁsu‘mﬁan W
SR A TG & TN TS fosrern 6t sem 6t :

2. Wﬁgwwxﬁaaﬁffaaﬁw
i o forg |

3. g Hiswdt § gargaa & fmior &
fer

4. WRE W AHHO w1 o faeeh
SSTTTeR %1 B0 o foTg |

Which of the above statements are correct ?

ST § 9 B W Teey TE 8 7

A) 1,2,4 (B) 2,3

©) only/%ﬂﬁ 2 (D) None of these/

T A % T

The ruins at Hampi brought to light in

1800 by

(A) Colonel Colin Mackenzie

(B) Thomas Hickey

(C) Domingo Paes

(D) N.icolo de Conti

1800 # &} 3 srTERIY i fémaeh g whTr

o ST 7

(A) e hie Al —
(2] ]

®) o o

(C) sife=m v .

(D) Fe S H=h

The All India Muslim League was

afga wrd g@w o A T
_ wggd
(A) 1902
(C) 1904

ALRCLGS kbt Pk AN TS THABI Mt LD TES O TN T YrRTIY

(B) 1906
(D) 1916

37.

58.

59.

What is the correct sequence of the
following events ?

1. Formation of an Interim Government
2. Arrival of the Cabinet Mission

3. Muslim League launches Direct

action
4. Jinnah’s wrecking of the Shimla
Conference
gt s afi Fa R ?

1. iy PR &1 TS

2. hfeme foem w1 e

. yfeem o gro i Hriard

4. o= gra Rmen geiem ) waie S

(A) 1,3,4,2 (B) 2,4,3,1
© 3,2,4,1 (D) 4,2,3,1

With which religion are the Dilwara
temples associated ?

(A) Jainism

(B) Hinduism & Jainism

(C) Hinduism

(D) Buddhism

feeraner wfex fopw vl & wfha% ?
(A) S g

B) forg vl we I ek

©) Rt

(D) g v

Who among the following was the
Chairman of Drafting Committee of
Constituent Assembly ?

(A) Dr. Rajendra Prasad

(B) J.L. Nehru

(C) Dr. B.R. Ambedkar

(D) J.B. Kripalani

= o & i dfdum g < ey wfafa &

FTF Y 7

(A) . To JETe:

(B) .7 IE®

(C) . H.3. e
(D) .. Fuerrt



60.

61.

Right to property was omitted from
Indian Constitution by

(A) 44" Amendment Act
(B) 40" Amendment Act
(C) 86 Amendment Act
(D) 71° Amendment Act
TR wRd gfaum @ gwafa &
arrfhsm feremifre fomam
(A) 443 Tenys srferfaem
(B) 40d weite Jrferfram gﬁ%
(C) 863 Tuiem stffrem
(D) 714 wsne Irfrfem

. Match the following :

ﬁm@m

President/ U84 Tenure/SRI®T

a. Dr. Zakir Hussain/ 1. 1987-1992

1. SR g8
b. R. Venkataraman/
AR, AHTE

c. Dr. A.P.J. Abdul
Kalam/el, T.H. 3.

3SGT heTH
The correct answ‘er is:
TR IWE
Codes /%< :

2. 2002-2007

3. 1967-1969

a
A 1
B) 3
© 2
D) 1

W W o= N
N - N W e
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Given below are two statements labelled

‘as Assertion (A) and Reason (R). In the

context of the two statements, which of
the following is correct ?
Assertion (A) : InlIndia, the Judiciary
is independent of the Executive.
Reason (R) Judiciary favours the
government and helps in the
implementation of its plans.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) s false, but (R) is true.

19 few u & aFel W IrfiYE (A) IR

% (R) % & # fufea fear mn € 1 @1

aehedl b el O, A i A e a § 7

T (A) ;. 9Ra =TT
wHriarieren 4 @A R |

T (R) : =ARUTITeRT TR 1 98 oAl 8

Wwﬁmﬁ%mﬁ

HEEA HET R |
(A) (A)TE (R) S 6 8 3T (R), (A)
T e R |
(B) (A) T (R) GHI § §, I (R), (A)
- R Ed e TE R |
(C) (A) T 8, g (R) 7 § |
(D) (A) A8, W (R) TA 2 |

The Union Council of Ministers is
collectively responsible to

(A) Lok Sabha (B) Rajya Sabha
(C) President (D) Prime Minister

Wnﬁmm@mﬁmuﬁf
I A g 7
(A) Wb gl (B) TS &1
(C) Tgufa (D) SuTAY
| 104C

64.

Poshan Gyan, a national digital repository

on health and nutrition was launched by

(A) NITI Aayog :

(B) Ministry of Rural Development

(C) Ministry of Health & Family
Welfare '

(D) Ministry of Home Affairs

TN T, TTEH TS qiwor 1 Usy fefre
WUER gy fma
(A) Hife s E%%

(B) et ferprar wamet A

(C) T T AR e HATer |

65.

66.

104C

(D) T8 WA A

In Indian Constitution Article 338A-
National Commission for Scheduled
Tribes was inserted by

(A) 102™ Amendment Act, 2018

(B) 104" Amendment Act, 2020

(C) 105" Amendment Act, 2021

(D) 89" Amendment Act, 2003

It wfeem § 319ae 338-A - FgRE
SafeEt & fore it s s eenfia
o T -

(A) 1028 T stfufrm, 2018 g

(B) 1043 wnem 3rferfaem, 2020 gro

(C) 1059 wenem fafaam, 2021 g

(D) 894 "Ny rfufe=m, 2003 gra

Which actress won the National Film
Award for Best Actress for the year 20197
(A) Kangana Ranaut

(B) Alia Bhatt

(C) Taapsee Pannu

(D) Bhumi Pednekar

foer § F form ot X 2019 % R 3w

et b1 T frew qeeR Sfie 2
(A) WO (B) i wg
©€) T w (D) ¥ ¥eIR

TN TS WARRIAGS TNBSOY THNAARES WD TSSO ViR

11

68.

69.

70.

67. Which of the following is/are Digital

India Initiatives/Services launched by the
government under Digital India Flagship
Scheme ?

(A) Mobile based UMANG services

(B) Direct Benefit Transfer

(C) DigiLockers

(D) All of these ’

g aen o/en 6 feliea sfen wmfim
ThIT % IR TR G I foart /T /<hY wraft
fefvree sfean shftrees/aamd @ 7

(A) TETEe 3T 35T Fard

(B) SR sHfthe Tt

(C) f&sit et

(D) Jaft

As per RBI’s Directions from October 1,
banks will penalise of ¥ per ATM
for non-availability of cash for more than
ten hours in a month.

IR TR, & FMEYHER, 1 S A T

R 3 28 e | 31Tk Tehe Y FAueTsHar
Ffussimyfau . 7 g
T AT |

(A) 25,000 (B) 10,000

(C) 15,000 (D) 5,000

The first country among the following to
receive the Indian COVID-19 vaccine is

(A) Brazil (B) South Africa
(C) Maldives (D) Indonesia

7= % @ 91 IRe #1 wifds-19 der
AT IUH TR 7

(A) ST (B) &f&or 31shiept

(C) "reTE (D) FERRmT

With the joint efforts of the railways of
which countries, regular operation of freight
trains have been resumed through the
restored Haldibari-Chilahati Rail Route ?
(A) India — Myanmar

(B) India — Pakistan

(C) India — Bangladesh

(D) India—Nepal '

7 <3l % W % E@g SO ¥ 98
TeaeTg! — feemerdt @ ant W AT
() Prfmsra R A HA ™ 7
(A) Y@ — MR (B) WRd — IR
(C) WG — SRy (D) WHd — J91el



71.

72.

73.

74.

‘who won medals in the Tokyo Paralympics,
are associated with which sports ? 77.

Who is the Chairman of DRDO ? 78.

(A) C. Vijayakumar

(B) Dr. G. Satheesh Reddy

(C) K. Sivan

(D) None of these

IR, FH A RAE ?

(A) &, fermgar (B) <. <. wdw i@
(€) . fore (D) 3 & g T

Buddhadeb Guha, who recently passed
away, was a noted

(A) Politician (B) Sportperson
(C) Writer (D) Musician
T6e e, Th e 9, R we
€ A TgEEH g3 |

(A) TSI (B) Raerst

(C) s@® (D) wflas

Mariyappan Thangavelu and Sharad Kumar,

(A) High Jump (B) Javelin Throw
(C) Shooting (D) None of these
Yuferfeee § e Sia o, fva @@ @
Heiftra & ?

(A) S % (276 79) mgE
(B) Tl % (S i) m‘%@
(C) Tramsrsh

(D) 57 A %S T

In which district of Rajasthan, recently !

India’s First Emergency Landing facility ;78.
[(airstrip) on National Highway was

inaugurated ?
(A) Bikaner
(C) Barmer

(B) Udaipur
(D) Jaipur !

mmﬁmmﬁmm 79,

A g (FamE-g)) F1 IgERA TA @

T Trore % fore forer # gom ¢ ;
(A) SRR (B) ITIR |
(C) W (D) SR ;

12

76.

PM Modi recently chaired the BRICS
Summit 2021 virtually. The Summit was
which edition of the annual programme ?

et ot 3 gt @ 4 forer weier 2021
6 Wy T Y (TYER) ey H | T
T e SHIRIFEH ShT hi- AT TEHT T 7
(A) 12 B) 13
(©) 15 D) 11
In the following letter series, some of the

letters are missing which are given in that
order as one of the alternatives below it.

freferlaa s1er Sof & 5o SR gw €, 378
g N9 @ T fyepedt 1 B foreh v H 3¢t
wAHfemmn g

aa_bcb _abece _bea _abe
Choose the correct alternative :

el farpey w1 299 il

(A) bbab (B) bbaa

(C) aaba (D) abaa

From the pairs of words, you have to
select the pair which is closely related in
the same way as the words of the first pair.
SCISSORS : CLOTH :: : .
(A) Pen: Paper (B) Furnace : Coal
(C) Rock : Stone (D) Razor: Hair
R ™ wregl & I ° | ORI IW I H
T BT ] S 9T JH 5 TG Y g &
foehe v @ wafa &

Sl e
(A) ST : B
(C) FgH : Fe;W

Choose the group of letters which is
different from others.

(B) g : el
(D) 30 : §TA

N F TR H TR A A AR E |
(A) MQT (B) HLP
(C) IMQ (D) EIM

Which letter will be 11® to the left of

7™ letter from the right end in English

alphabetical series ? ‘
St avtaTe @ § g BR @ 73
% st 3N T 1197 STER S H AT BT 7

(A) D (B) E
() 1 (D) P

104C

Directions (Questions 80 to 82) : Read the
given passage and answer the questions that
follow based on passage :

Rabies is a disease transmitted to man
and animals through the bite of a rabies-
infected animal, most commonly by dogs. It is
caused by a virus present in the saliva of the
infected animal which gets deposited in the
wound of the bite victim, multiplies and travels
towards brain and spinal cord. If not treated,
about half of such cases develop rabies.
Symptoms of the disease start one to
three months after the bite. Very few laboratory
tests are available for the diagnosis of rabies
in India. Precautionary measures include
prompt washing of the dog bite wound with
soap-and water. The wound is also treated with
cetavion : tincture of iodine or spirit.

fadw : feu o ufcedg i ufew ok 38 W smurfa
TEHT (80-82) % IR &¥T -
S ™ W R, S OGN wwha IEed,
RG] $X & HleA d T @ T |
FeTid a1 | T Hehfd Sier i o H St
farerTo 3 gR B & S i 3 T o S &Y S
? 3R % T SgeHt wftrsh Td detee Y AR 9
AT 8 | Ife serrs Tl U e @ 39 YN %
T 3T i § (& fsfad Bl S ® 1 I
AU B % T A A TR g YE A 8 | IR
i W % g % o g wa el wie
IUeTey § | FX % e | §U UG B WIEA 3R
Tl § Tt 9T et Sart # e R )
TS H FAS WA (Cetavion) : 8 3R
AR o1 f&=r (er) @ oft Ren i & 1
80. Rabies can be transmitted from any

animal to the other through open cuts and

wounds.

(A) Probablytrue (B) Probably false

(C) Definitely true (D) Definitely false
it feret ot TTeR 6 G e Tl * g

TR A ! HETNG B e § |
(A) B¥Ea: G} | (B) @vEa: T © |
©) FfFEaafid (D) TR

104C

TG AD TAABUOS TSRS WARSORIRY TSmO TTAKR LD NI AR b ARG YR

81.

82.

83.

13

The bite of rabies-infected animal to a
healthy animal definitely results in
spread of rabies.

(A) Definitely false (B) Data inadequate

(C) Probably true (D) Definitely true
TSGR THER & T WY JHeT 6
wHred w1 g fifvem R w s =
HTE BT g |

(A) T Te@ ] | (B) 31 9diH |
(C) uvem: g R | (D) MfiFeaadig

The saliva of the house dogs should be
periodically tested for the detection of
rabies. , :
(A) Probably true (B) Definitely true
(C) Data inadequate (D) Definitely false
i Y g & fY e F % an
THY-FHY WS HOH! 10T

(A) vea: g€ R | (B) Fifaa @t g
©) sa3mimg | (D) Rt e |

Simran told Rahul, “That girl is the’
youngest daughter of the brother-in-law
of my friend’s mother”. How is that girl
related to Simran’s friend ?

EEE
(A) Niece (B) Aunt "E]%
(C) Cousin (D) Nephew
e 3 g o s, <ag sigehl W fE
Hi o Sfien 6t ged B 9 ® |7 98 A

T 61 3 & Form R Tl 8 7
(A) Wi/t (B) At
(C) = (D) st/ v

If ‘BUS’ is coded as ‘DWU’ how will
you code ‘ROBS’ ?

gfe ‘BUS’ &1 ‘DWU’ iea foram a2,
@ AT ‘ROBS’ 1 H2 T TR 7

(A) SPDO (B) SPCD

(C) TQCU (D) TQDU



85.

86.

87.

Mahesh walked 20 metres towards west,
turned left and walked 20 metres, then he
turned right and walked 20 metres and

again turned right and walked 20 metres.

Now, how far is Mahesh from his starting
point ?

HReT ufeRm <Y 3R 20 e wer, a1 gea
20 et =, R a7 g gee 20 Hiw
Tt R GEI G gS 20 Hiet T | 379
RN 31T YRt fiig A feah i R 2
(A) 40 m/HdfieR (B) 60 m/HeX
(C) 80 m/HieX (D) 90 m/HteX

H, L J, K, L, M and N are sitting in a
circle facing at the centre. L is neighbour
of Hand K, N is not between M and J. M
is to the immediate right of H. I is second
to the left of N.

Which of the following pairs has the
second person sitting immediately to the
left of the first person ?

H,LJ,K, L, M 3R N &g i 3 g@
HIAH NS E | HIMKH oS 2L, M
3R J % 7e1 N 78 & | M, H % qehlel gl
BILNSSRq@ugl

= i 7 | fored qmo =, et =t
FAHEATIISTE 7

(A) LI (B) KL 0]
(C) MI (D) HL %ﬁ

In a row of girls, Pinky is 11% from the

left and Dinky is 13™ from right end.
Seema, who is 2™ to the right of Pinky
and 4" to the left of Dinky. How many

- girls are there in the row ?

wefra Fl uh ifr d, R e & 1197 2
3R fE&ht oifgm s @ 134 2 | o, fiH
¥ 3 qud o R S A eh R |
dfth & o1 forareft et & ¢
(A) 30 . (®B) 27
(©) 29 (D) 28

14

88.

S,

89.

90.

91.

Which one of the given responses would be

a meaningful order of the following words ?

1. Wood 2. Book

3. Factory 4. Paper

5. Priqt

1 w2l 7 aredyol v fw o Swd A @
9 1T B 7

1. a& 2. Y&E®

3. % 4. HUTS

el
(A) 1,3,4,5,2  (B) 2,5,1,4,3
© 3,1,4,2,5 (D) 423,51

Which letter will replace the question
mark (?) in the following design ?

fefofga e v g ()R aRw@

Fer wforenfim w7
‘AjC

? E

M G
K11

(A) O (B) P
© Q (D) R
Supply the right letters for the Question
Mark () :
e 3 (7) o o et arem e Y -
XA, ?,DI, GO, JU
(B) WE

(A) VE
(C) AE (D) CE

From the pairs of words, you are to select
the pair which is closely related in the
same way as the words of the first palr
NITROGEN : GASEOUS :

(A) Lead : Pencil

(B) Feather : Wing

(C) Mercury : Liquid

(D) Nitrogen : Oxygen

&2 ™ wregl & T A A IR 3T W
T9H HET & T YW I * TG Y TWE &
e wu @ gaftra &

AMgeIeH ; e
(A) 98 : ¥R
(B) UG : &1
(C) Rl - e (5)
(D) TgRIeH : ATafisH

104C

92.

93.

94.

9s.

96.

104C

Choose the odd one out from the given
alternatives.

few e ferpedl # @ fmm s g7 |
(A) 8,8 (B) 12, 4
(C) 3,13 (D) 10,7

Which letter will be 4% to the right of
9 letter from the right end in English
alphabetical series ? ’

ISt gofarer Sl § g OR § 99 ST H
TR I T ST FER B G1ET ?

(A) D B)V

© G- ®) X

Introducing Sunita, Nikita said, “She is the
only daughter of my father’s only
daughter”. How is Nikita related to Sunita ?
(A) Aunt (B) Cousin

(C) Niece (D) None of these
gHar 1 afe s ge, Rfear T @,
“zrg T e <t gepetielt 91 Y gepenelt 9
2" | e, gt @ form wepR Heiftra 8 7
(A) 3 (B) ¥

(C) (D) T A %1 TEf

If ROME is written as MORE, then

DARE will written as

If ‘ROME’ %! RraT 911 § ‘MORE”, @1

‘DARE’ ®! ferar smom ~ @%%
.E 1

(A) REED (B) ROAD
(C) RAED (D) RADE
Anil walked 10 km towards North. From

towards South. Then he walked 3 km

towards East. How far was he from the

starting point ?
(A) 16 km. (B) 5 km.
(C) 17 km. (D) 9km.

Frfaer SR A AR 10 Fp.fl. =en | TET @
Tg N8 ueter IR gfdror st 2N 6 ..
T | ITH 91 Ig T4 h1 3R 3 fH.h,
=l | 98 Yoo fag @ fraft g woen ¢
(A) 16%6.d, (B) 5TR..
(C) 17w, (D) 9 for. .

|
|
|
é .
|
|
!
i
|
|

97.

98.

199,
there he turned back and walked 6 km |

15

In a school, there were five teachers. A
and B were teaching Sanskrit and Maths.

X and .B were teaching Maths and

History. Y and A were teaching Hindi
and Sanskrit. Z and B were teachmg
Geography and Spanish.

Which of the following pair was teachmg
both Maths and History ?

T @l | ate e 9 | A 3R B w5

AT v YT A | X IR B iU aen
ferem v & 1Y 3R A fa=dt aen wpa
TgI & | Z 3R B s qe @i ver & |
= § A o w 3w ThE 3R sfremm 9

T o ?

(A) B, X
©) Z,Y

(B) A,B
(D) B,Y
is ‘road’,
‘sky’ is

If ‘rain’ is ‘water’, ‘water’
‘road’ is ‘cloud’, ‘cloud’ is ‘sky’,

‘sea’ and ‘sea’ is ‘path’, where do
Aeroplanes fly ?

(A) Water (B) Cloud

(C) Path (D) Road

qﬁ ‘a’q‘i, % ‘q-Fﬁ-a’ cq—Fﬁa % "5335’, cm, %

3R T & A, o e R S | ¢
(A) T (B) 9IeA
(C) =mt (D) TS

Which one of the given responses would
be a meaningful order of the following -
words ?

1. Seed 2. Plant

3. Flower 4. Fruit

5. Tree
ﬁwm@maﬁ@wmmmﬁﬁﬁ
W G TH B 7

1. oS 2.

3. g& 4. A

5. g4

A) 1,2,3,5,4 (B) 2,3,4, 1,5

©) 1,5,4,2,3 D) 1,2,5,3,4



- 100. Select an appropriate number to replace

101.

the question mark (?) :

w1 % (2) i wfvenfie w0 %
7 [21] 8
17125
121 |23
(A) 14 (B) 16
- (C) 22 (D) 18
69-14x3+2 %@
Ix5-(5?%
(A) 1.45 (B) 26.35
(C) 26.5 (D) 2.65

102.

103.

104.

(C) 1:8

Find the average of all the prime numbers
between 60 and 90.

60 3R 90 % weg |t TS W@ Bl
3fred 31 Y |
(A) 74.71

(C) 76.22

(B) 74.00
(D) 72.55

A bag contains three types of coins —
1 rupee coins, 50 p coins and 25 p coins
totally 175 coins. If the total value of the
coins of each kind be the same, the total
amount in the bag is

T W A R F s § - 1w,
50 97, 3 25 A Hper 175 R § 1 AR
T TR o Toehl %1 Fer g aH A,

A dpa R g -
(A) T39

(C) 75

(B) 226

T | g T

‘The radii of two cones are in the ratio

2: 1 and their volumes are equal. Find the
ratio of their heights.

T Yl i Bremett w eagma 2 1 W@
FF IS FAF E | I Samgal =

3TITE 1A AT |
(A) 4:1 B) 2:1
(D) 1:4

(D) None ofthese /.-
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106.

107.

108.

108. 30% of A’s salary is equal to 20% of %‘h

of B’s salary. If B’s salary is ¥ 2,400, then
what is A’s salary ?

A 1 30% ¥, B%éﬂ?%gﬁ%zo%%ﬁ

T 8 |szq'B‘eméa=r?24oo A H
T TR ?

(A) T 1,010 (B) T 960
(©) % 2,060 (D) None of these /
T 8 HE T

Asmita invests an amount of ¥ 9,534 at
4% p.a. to obtain a total amount of
T 11,442 on simple interest after a certain
period. For how many years did she invest -
the amount to obtain the total sum ?

@ 4 2 9,534 it v R 4 wfowm
i it T s @ @ e fifvam
THATERY q¥ETq $A T 11,442 6 il wmw
% & forg fdw e | vt ot e @
o fere 3o fopem ot & forg fraw fomar 2
(A) 9 years/ﬂé (B) 6 years/ﬂé

<) 8 years/ﬁ"f D) 5 years/ET‘Sf

A sum of ¥ 12,000 deposited at
compound interest becomes double after
5 years. After 20 years it will become

Thg e ST IS 1 TS 12,000 3 Tl
SaNiaR g S I R | 20 A AR AR A
St

(A) T 1,40,000
(C) ¥1,92,000

(B) % 1,96,000
(D) T 1,44,000

If cost of 24 oranges is ¥ 72, then find out
the cost of 120 oranges.

I 24 WA FT A T 72 B, ?ﬁlZOHﬁ'ﬁTﬂ*

e 1 HIRT |
(A) 190 (B) 7360
(C) T182 (D) 580

104C

109.

110.

A dishonest shopkeeper professes to sell
potatoes at the cost price, but he weighs
950 g, instead of 1 kg. What is the
percentage of profit ?

T A5AM GHMER IATe] ! AW TF W

= 1 fegran s 8, o 98 1 R
% T T 950 UT detdl & | 1 T Nfasra

w7
(A) 5.44% (B) 6.66%
(C) 5.26% (D) 6.06%

By selling an article, Mahesh earned a
profit equal to one-fourth of the price he
bought it. If he sold it for ¥ 375, what was
the cost price ?

T 5] I T, n%mﬁ@ﬂat{a%@

éﬁmé%mamaﬂaﬁmmﬁmﬁ

111.

112.

I8 T 375 T A= A, AT o FTAT 7
(A) T312.56 (B) %360.43
(C) %300.00 (D) ¥ 281.85

3120+ 26 + 13 x30=?

(A) 240 (B) 530 ;.
(C) 390 (D) 510 %@

The perimeter of a rectangular field is
480 m and the ratio between the length
and the breadth is 5 : 3. The area is

TS RATHR &3 T IRET 480 m & 3R

~ (C) 13500 sq.m.

113.

104C

TR T e F T H IS5 : 38 |
IAH ATFAR ~
(A) 13501 sq.m. (B) 15501 sq.m.

(D) None of these /
T @ HIg T8

One litre of water is evaporated from 6
litres of a solution containing 4% of
sugar. The percentage of sugar in the
remaining solution is

4% St 915t U 6 et et ¥ | G o
gt arfsra & xa%gqtﬁ'aﬁ%ﬂﬁm
wferTa 8

(A) 3.8%
(C) 5.8%

(B) 4.8%
(D) 1.8%

17

114.

115.

116.

117‘

How much is 20% of 1/7 of 1540 ?
1540 % 1/7 120% a7

(A) 44 (B) 88
©) 22 (D) None of these /
T 9 SIE T

If 1 man or 2 women or 3 boys can do a
piece of work in 44 days, then the same
piece of work will be done by 1 man, 1
woman and 1 boy in

IR 1 atresht o 2 wftemd o 3 TeH ww HH
% fee ot 44 fel § v wepa €, Al o v

%%@aﬁlmlﬁﬁwaﬂnm
=8 -

(A) 20 days/fe 8
(B) 24 days/fem @
(C) 28 days/fea @
(D) 34 days/fea o

If the value of 21a + 21b = 1134, what is
the average ofaand b ?

Ffe 21a + 21b HTHM 1134 8, A a 3R b
&1 aigd a2 ?

(A) 20 (B) 27

(©) 56 (D) None of these /
T § g T

The dimensions of a cuboid are 7 cm,

11 ¢cm and 13 cm. The total surface area is

T gy S fEmd € 7 om, 11 cm 3R

13 cm | F& TR 96 B —
(A) 3110cm?  (B) 622 cm?
(C) 100 cm? (D) 200 cm?



Directions (Questions 118 to 120) : Read the |119. Step II of an input is :

following information carefully to answer the
given questions :

A word and number arrangement machine
when given an input line of words and
numbers, rearranges them following a
particular rule in each step. The following is an
illustration of input and rearrangement.

Input :goal 63 57 home five task 82 17
StepI : 82 goal 63 57 home five task 17
StepII: 82 fivegoal 63 57 hometask 17
StepIIl: 82 five 63 goal 57 hometask 17
StepIV: 82 five 63 goal 57 home 17 task
And Step IV is the last output.

As per the rules followed in the above steps,
find out in each of the following questions the
appropriate step for the given input.

G (797 118 ¥ 120) : R ™ At 7 O DY
¥g Feferfea gamm o srere s
T W G S fomme aefie @) o el w
w1 e T & el R e 97 yee =
4 T Fafiree forem w61 e o =% g sratRm
F ot B | A SR e w1 @ semw
frafafaa ?

fAsr  : goal 63 57 home five task 82 17
TOTT : 82 goal 63 57 home five task 17
IOl : 82 fivegoal 63 57 hometask 17

SOOI : 82 five 63 goal 57 hometask 17

TOT IV : 82 five 63 goal 57 home 17 task

IR = 1V 3o Seame |
SR =l # SrEid Pl % srgEn e e
% e 3 Fa % for SR o s R

118. Input : host 15 32 page 43 over
mother 92
Which of the following steps will be the
last but one ?

fAar : host 15 32 page 43 over mother 92

freferfea % & sifow & vea sorw BT ¢
(A) IV (B) VI
(©) vi (D) None of these /
T 9 I8 T
o 18

120.

121.

122.

T o 1w IR

67 cat 12 25 dog fight man 42.
Which of the following will be Step V ?
e dasarsw vam ?

(A) 67 cat 42 dog 25 fight 12 man

(B) 67 cat 42 dog 25 12 fight man

(C) 67 cat 42 dog 12 25 fight man

(D) None of these/sTH @ &3 &}

Step III of an input is :

81 boat 73 wheel spike dancer 32 59.
How many more steps are required to
complete the rearrangement ?

(A) Three (B) Four

(C) Five (D) None of these
T R ST I R -

81 boat 73 wheel spike dancer 32 59.
I ST S Q1 A & g feem 3k
ST T STTVIHAT R ?

(A) o= (B) IR

(©) wi= (D) ¥ YRS 7

‘Chhappan Ka Maidan’ is situated at
(A) Between Banswara — Dungarpur
(B) Between Pratapgarh — Banswara
(C) Between Banswara — Kushalgarh
(D) Between Chittorgarh — Pratapgarh

B H AEE fRER

(A) SiaaTeI-Frg % st

(B) AT -STHaTST % W {E;‘aig
(C) SigaTSI-FReTg % e
(D) Feitgrg-yammg &

In which district of Rajasthan Saharia
tribe live ?

(A) Baran (B) Jhalawar

(C) Bundi (D) Kota

i St TeredT % forg fe 3 framg
HAR 7 |

(A) sRI REISICIES

© 9§ (D) Wi

104C

123. When was Hanumangarh district formed
from Ganganagar ?

TR & FTE el @1 T8 e ga
a7

(A) 01.08.94 (B) 18.04.96

(C) 18.04.95 (D) 12.07.94

124. Which of the following Kachhwaha ruler
made Amer his Capital after defeating
Meenas ?
(A) Dulherai (B) Jaisingh
(C) Kokildev (D) Man Singh ]
e 1 @ S | e wEe 3 Hme H
TS ITTHL 1 ST T ST ?

(A) R (B) vt

(C) Hifpered (D) wHRTE

125. Bench of ‘Rajasthan High Court’ is

situated at which of the following place ?
(A) Bikaner (B) Ajmer

(C) Jaipur (D) Jodhpur .
Ty 3= e’ i fis (d39) e
A a7
(A) TR (B) 3R ?%;%
(C) ST (D) g @
126. Match the following :

gAferd I

Books / 3%k Writer / %@

a. Hammirayan/ - 1. Badar /€T

b. Virmayan / — 2. Manchharam
T Sevag /
| HETH I
c. Raghunath — 3. Bhandau Vyas/
Rupak / g3 =™
AT ® 9k
Codes /2 :
a b ¢
A3 2 1
B)2 1.3
© 3 1.2
1 2 3

104C

127. The Ba&alion which revolted in
Naseerabad in 1857 was

(A) Bombaylancers

(B) 30" Bengal Native Infantry

(C) Merwara Battalion

(D) 15" Bengal Native Infantry

1857 & wefitrag # forge T areft srerfora
ot

(A) STrseres

(B) 30a smmrer Afee ghoeh
(C) AtaTeT siferas

(D) 154 smrer Afea s=hoed)

128. In Rajasthan, which of the following
dance is performed by only men ?

(A) Ghumar
(B) Kachchhi Ghodi
(C) Terah Tali

(D) Katthak ;

ey #, e 3 8 B9 o1 e Faa genl
R R ST 8 2

(A) TR (B) =1 Tl

(C) g areft (D) HeUs

129. Which of the following pairs is incorrect ?
(A) Arthuna Temple — Barmer

(B) Harshat Mata Temple — Abhaneri,
Dausa

(C) Vibhishan Temple — Kethun, Kota
(D) Harshnath Temple ~ Sikar

SN G TR ?

(A) o HieT — AT

(B) T it — e, Qe
(C) T wfex — e, e

(D) T wfR — et

19 o

L0 UMOUSS WD TS WHMAES WRSRTES. LA A3 PGS T TSI TS



130. Organize the following rulers of Chauhan

131.

132.

Dynasty as per the chronological order :
1. Prithviraj III 2. Ajayraj

3. Arnoraj 4. Vlgrahara_] v
e TEw % Fefafes st W
HICTHATIAR Sefedd i :

L ARSI 2. RS
3. U 4. foETs IV
Code /%2 :

(A) 1,3,2,4 ~ (B) 1,4,2,3
©) 2,3,4,1 (D) 2,3,1,
Match the following :

List-I List-II

a. Kumbhalgarh Wild Life 1. Sariska

Sanctuary

b. Keoladeo National Park 2. Jaisalmer

c¢. Desert National Park 3. Bharatpur
d. Tiger Reserve 4. Rajsamand
Freifera =t gafera SHifv
-1 Hef-II
a. PR o ST SRIMOT 1, AREHT
b. FaRd TER ITH 2. HE
¢, W UL ITM | 3. WagL
d. g fsre 4. qwame
Codes / %¢ : .
a b ¢ d
A4 3 2 1 1]
)1 4 2 3 m%g
@< 1 2 3 4
3 1 2 4
The Chairman of the Rajasthan Public 134.
Service Commission can be suspended i
by the : ’
(A) Chief Justice of Rajasthan High Court ;
(B) Chief Minister of Rajasthan !
(C) Governor of Rajasthan
(D) None of these i
ToRTH o ¥ FEW F aead #
g Fafra fFn s aswar 2 | |
(A) TSRYT Fo1 IR % e = |
(B) TR % gt |
(C) T & =TT |
(D) ¥ & %1 7 |
20

133. Match the following :

frerfrfea =) gafr =
Tourist Circuit/ Area/
e afhe el

. BrijMewat - 1. Alwar-Bharatpur-
Circuit / S Sawai Madhopur/
e wfbe m—w-m

. Shekhawati — 2. Ajmer-Pushkar-
Circuit / Merta-Nagaur/
SrETETed TR - - g~
afhe AR

. Desert — 3. Churu-Sikar-
Circuit / Jhunjhunu/

% Hithe TE-H -

. Merwada — 4. Jodhpur-Jaisalmer-
Circuit / Bikaner-Barmer/
AETET Aithe Y- TR -

TR~

Codes / %2 :

a b ¢ d

A)3 2 1 4

B4 2 3 1

o1 3 4 2

™21 4 3

With reference to ancient state of
Rajasthan what was ‘Kansa Parosa’ ?

(A) A type of Irrigation

(B) None of these

(C) A type of Tax

(D) A type of Land

TSR ot JTi Rarad < gl § shiwn
T T T 7

(A) ﬁmﬁaﬁ@ﬁm o
(B) ¥ 9 &g & i
(C) T N&HR & A1 ()
(D) ¥ 1 T FhR

104C

135.

136.

137.

138.

104C

Where is the cave of ‘Saint Peepa’ ?
(A) Peepar (B) Toda
(C) Dhanera (D) Gagron

el i <Y T hET ] ?
(A) Hrg (B) &St
(C) g3T (D) TP

Which of the following Articles of Indian
Constitution is related with Executive
Power of Governor ?

(A) Article 142 (B) Article 154
(C) Article 171 (D) Article 158

et wfaym %1 Fafafea § 9@ =9 @
IT=RE TS Y SRl wfed @

TEfE R 7
(A) IR 142 (B) gede 154
(D) =T 158

(C) erg=ae 171

In 1947, Shekhawati Farmers Movement
ended on who’s efforts ?

(A) Jamnalal Bajaj

(B) Jainarayan Vyas n%s
(C) Manikyalal Verma
(D) Hiralal Shastri

YrETaTdt fReH iger W 1947 § frwes
SATHI @ GHTH g3 7

(A) THATATSA A (B) ST S419
(C) wfdveRreTTe swi (D) Ereret wreht

In which year Rajasthan School of Art
was established by Sawai Ram Singh-II ?

(A) 1882AD.  (B) 1860 A.D.
(C) 1857 AD. (D) None of these
TaTs TAitiE-11 g0 e af teeus wen
oo f A ¢

(A) 1882 ? (B) 1860

(C) 1857 (D) T A HE A

141

|
|
I
!
|
|
|
|
|
|
|
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139,

140,

Match List-I (Heritage) with List-I
(Place) and choose the correct answer
from the codes given below the lists :

_ List—I List-1I -
a. Gajner Palace 1. Barmer
b. Kiradu Temple 2. Udaipur
c. Jag Tample 3. Bikaner

-1 (ferra) =1 gEi-11 (F) & &1y

e Y iR Rt % 9 fw e e @
H&ﬁ?ﬁ‘(ﬂﬁ

- ogEl -1
a. T HEA 1. TR
b. fertrg wfex 2. TR
c. S HfeR 3. ™t
Codes / 3¢ :

a b ¢
A2 1 3
@3 1 2
©3 2 1
1! 2 3

Who founded ‘Alakhia Sect’ ?

(A) Sant Dasji (B) Charan Das
(C) Swami Lal Giri (D) Bholanath
‘STARGT TRIgE’ i WA fhaa Y 7

(A) & grEsht (B) =™
(C) @ &e filt (D) ey

. Jogi caste of Alwar district play which of

the following instrument ?

(A) Rabaj (B) Bhapang

(C) Sarangi (D) Jantar

JeR R i o & am = d @
frgam s T € ?

(A) T (B) W

(C) Traft

(D) SR



142. The Governor of Rajasthan, who died

143.

144,

during their tenure :

1. S.K. Singh

2. Mrs. Prabha Rau
3. Nirmal Chand Jain
4. Darbara Singh

TSI % 3 T Fe1 s &
e g

1. wH e 2. sfwdiwnwe
3. fdesed 4. weEwfEe
Codes /%< :

(A) Only/&as12  (B) 2,4

(C) 1,2,3,4 (D) omy/asam
The ‘Boo’ village of Nagaur was famous
) Torepats

ng Mudgcoys- sm
(C) Thick cotton shawl (Bl

(D) Hand made paper

iR w1 . Tifa fha werrers w1 ¥ frg

afHg @ 7

(A) FE9F

(B) &=t frdt & fgeiid

(C) ™ eht wifen

(D) &= Fifta s

Consider the following statements :

1. The Lokayukta institution in Rajasthan
was established in the year 1973.

2. Justice ILD. Dua was the first
Lokayukta of Rajasthan State.

‘Which of the above statement/s is/are

correct ? .

(A) Only 2 is correct.

(B) 1 & 2 are both true.

(C) 1 & 2 are both wrong.
(D) Only 1 is correct.

frefefea swrell W fmm ot

1. Wﬂﬁﬁmwﬁaﬁwn
# wf fomam e o |

2. Wm‘e\ggmmm%

|

I § A BN w1/ wue wd /8 7

(A) FIA2 TR ] | '

(B) 10§ 2 Qi wElt § |

(C) 1 T& 231 7T £ |

(D) Faa 1 & R |

(30
N

HANHLARD TARIATIDT AL TRIMO—G WASOIAD WIS iR AS MM TSNS VEASEGD TSRS

i 145 Which of the following pairs is correct ?

§
i
i
i

H

i

i 146.

Institution Establishment
(A) Rajasthan Sahitya — 1969
Academy
(B) Rajasthan Sangeet — 1957
Natak Academy
(C) Rajasthan Brij - 1982
Bhasha Academy
(D) Rajasthan Hindi — 1980
Granth Academy
faddsmagnadie
(A) TSR HIfged athreHt  — 1969
(B) TS wfie ek ehredt — 1957
(C) TSI SIS WT9T it — 1982
(D) TR & ov srepredfl — 1980
Which of the following options is the

correct chronological order of the tenure

of Chief Ministers of Rajasthan ?

(A) Shiv Charan Mathur — Jagannath
Paharia — Bhairon Singh Shekhawat
— Haridev Joshi

(B) Jagannath Paharia — Bharion Singh
Shekhawat — Shiv Charan Mathur —
Haridev Joshi

(C) Shiv Charan Mathur — Haridev Joshi
— Jagannath Paharia - Bhairon
Singh Shekhawat

(D) Haridev Joshi — Bhairon Singh
Shekhawat — Jagannath Paharia —
Shiv Charan Mathur

frafafaa 4 @ 19 w1 ey oo %

EIHBET o HIIHTE T HIHATIER Te)

g

(A) Tremror W - mw&m
Niftig g - gieg e

(B) STy wEifeAr — Kiftg SwmEd -
FRrersron ey - e sheft

(C) Frererror wep - E&éasﬁsﬁ T
TEifEa — ifdg SamE

(D) Bhea Sireft — Rifie Iarad —
TR — RiE=Ro ayw

104C

147.

148.

149.

The Chairperson and members of the
Rajasthan  State Human  Rights
Commission are appointed by the
Governor on the recommendation of a
High level committee. This committee is
headed by : ,

(A) Chief Minister

(B) Chairperson of State Legislature

(C) Chief Justice of Supreme Court

(D) Chief Justice of High Court .
TORY TS AFETHR ST & STed

3t gewl i fgfe 3= wli affy
) Tegfa W TSIUTE gRI Y I ] | 39

affa s FFBAE

(A) FEaTht

(B) T<¥ fyum nuget & read

(C) = =TT & q&d =
(D) S eI & TEF T

‘Ashokashtami’ is celebrated on
(A) Chaitra Krishna Ashtami
(B) Baishakh Shukla Ashtami

(C) Shravan Krishna Ashtami

(D) Chaitra Shukla Ashtami
‘STMHTEH TATE Tl B

(A) 37 F EH H =
(B) 9T Y&t YwHt I El%ﬁ
(C) STaroT 07 3TEHt

(D) =3 Y& 7T} B

Who was the first Chief Information
Commissioner of the Rajasthan State ?
(A) Shri N.K. Jain

(B) Shri Amarjeet Singh

(C) Shri M.D. Kaurani

(D) Shri Indrajeet Khanna

TSI TS o oW e G 3T A o 7
(A) S E.F.

B) *ft smwha Riz

(©) Mg wrmf

(D) sft st e

104C

|
|
l
!
|
i
|
|
|
|
|
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150. Policy formulation is a joint effort in

which many organisations take part.
Match them :

a. Constitution 1. Important role in
policy formulation

Chiefbody for policy
formulation

b. Parliament 2.

Indian Constitution
is the main source of
policies. Preamble
and Directive
Principles are its
inspirational sources.

¢. Councilof 3.
Ministers

Main policies of the
government are
approved by the
Parliament.

d. NITI Aayog 4.

 ifis Frfor o G S g & R wga

a wigm 1. Hfify fmin § wgwegl
faeT
b, G 2. Hify fmtor % foe ge
o
c. Abmea 3. fifwt ® g @@
O wfeum R
yeEE IR e
firgia o JonEa € |
d. Hfifq s 4. TR i ge et
Toe gr g
STt € |
Codes /3¢ :
a b ¢ d
A3 4 2 1
B3 2 1 4
©2 1 3 4
1 4 3 2



